LaampPron

Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: DG3600E

-
v
Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-B
1 [suratens 1 11 511011024501 BonT KpenneHuna potopa M10x245 1
2 029049910300 MpoKknagKa raywutens 1 12 029030101800 3awumTa ctatopa 1
3 029043200001 nywwutens 1 13 029030430700 Kpblwka reHepaTtopa (ctopoHa AVR) 1
4 019990000103 Perynatop 3apagku AKb 1 14 511050616001 Bont M6x160 4
5 019990000200 KpOHLWTEWH KpenneHus perynatopa 1 15 029030500101 CoeanHUTENbHAA KONOAKA 1
6 029990000201 [atunk gasneHuns macna 1 16 029030620201 Bnok AVR 1
7 029030200303 KpbiLWwKa reHepaTopa CTOpoHa 1 17 029030700200 LLLeTKn KoNNeKTopHble 1
JBuratens
8 062024320005 Potop 1 18 029030300314 KpbiwKa anbTepHaTopa 1
9 062024330012 CraTop 1 19
10 513041000006 LWatiba 10 1 20




LaampPron

Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: DG3600E

15

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-Bo
1 021020800001 Pama 1 16 512071200000 laitka M12 2
2 029020660031 MaHenb ynpasneHus 1 17 021020010000 MoppoH pambl 1
3 029050601401 KpoHLWTeWH KpenneHus pyKkoaTku R 1 18 019990008000 AmopTu3aTop TonmMBHoro 6aka 1
4 029050601301 KpoHLWWTEWH KpenneHns pyKoaTku L 1 19 029060100242 Kanot gsuratens 1
5 029050600101 DuUKcaTop PYKOATKK 2 20 029010200142 Bak TonAuBHbIM 1
6 029050601501 PykoaTKa TpaHcnopTMpoBOYHan 2 21 029019900601 DunbTP BCTaBKA TONAMBHOIO 6aKa 1
7 029050400602 060/104Ka PYKOATKM 1 22 029019901102 KpblwkKa TonimMeHoro 6aka 1
8 029050100201 Onopa pambl 1 23 029019930000 YKasaTenb ypoBHA TONAUBA 1
9 029969910201 KpoHwTenH KpenneHuna AKB 1 24 011010004300 DUNbTP TONAMBHBIN 1
10 029960300100 AKB 1 25 019990009400 KpaH TonamsHbIii 1
11 029969900221 Mposog, AKB 250mMm KpacHbIit 1 26 029019900401 XomyT wnaHra 8 1
12 029969900219 Mposog, AKBE 250mMm yepHbIi 1 27 029019900200 LLnaHr TonaueHbli 7,5x300 1
13 029910300401 Bubpowusonatop 4 28 029019900402 XomyT wnaHra 13 1
14 029050400100 Koneco TpaHcnopTuposoyHoe 2 29 511050804505 Bont M8x45 6
15 029050412000 Ocb KpenneHua Koneca 2 30




LaampPron

Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: DG3600E

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HavmeHosaHue K-so
1 011020001600 [onoBKa umMnmHapa 1 18 512030600002 lalika M6 2
2 011020001700 KnanaH BnyckHow 1 19 511050605503 Bont M6x55 3
3 011020001800 KnanaH BbInycKkHOW 1 20 019990012100 KpbiLWwKa KnanaHos 1
4 516030802003 Wnunbka 8x20 2 21 019990012200 MpoKnagKa KpbIWKKY KNanaHoB 1
5 011020000300 LWaitba 4 22 511050604503 Bont M6x45 2
6 513021000002 LWawnba 10 2 23 011020100000 Kopombicno knanaHa Komniekt 1
7 512030600002 lalika M6 Ha A/IMHHYIO WNUAbKY 2 24 516030605503 Wnunbka M6x55 2
8 019990008500 Mpoknagka GopcyHKM 1 25 011020000400 [aiKa Ha KOPOTKYIO LUMWUIbKY 2
9 516030605503 Wnunbka M6x55 4 26 011020001500 MpoknagKa BNYCKHOro KONeKTopa 1
10 019990012000 LLla6a npyKuHbI KNanaHa 2 27 011020004000 Konnektop BnyckHow 1
11 522010101501 Konnauek macnocbemHbiit 1 28 511050602803 Bont M6x28 3
12 011020001900 Mpy**nHa KnanaHa 2 29 019990008700 BonT KpenneHua Kopnyca GuabTpa 1
13 011020002000 Tapenka Npy*KMHbl KnanaHa 2 30 019990012300 Mpoknagka nog Kopnyc ¢puabTpa 1
14 011020002200 Cyxapb KnanaHa 2 31 019990012400 Kopnyc Bo3gywHoro ¢punbrpa 1
15 011020002100 Konnayek knanaHa(nog KopombIco) 2 32 512040600002 laiika M6 3
16 019990010100 ®DopcyHKa KOMNEKT 1 33 019990012500 DuUNbTP BO3AYLUHbIN 1
17 019990008300 MnactuHa KpenneHua GopCcyHKM 1 34




LaampPron

Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: DG3600E

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-B
1 011020000100 Kaptep 1 18 522010100801 CanbHUK KoneHBana 30x45x8 1
2 019990011800 KOHTpOoAbHbIV 6onT 1 19 011020000800 MpoknagKa Tonkatenemn 1
3 019990007100 LWariba 2 20 011020000700 LLInnnbKa ronoBKM ANMHHAA 2
4 029990000101 MNaTpyboK ansa cnmea macna 1 21 011020000500 MpoknagKa ronoBku LUANHAPA 1
5 019990007000 bont ana cnvea macna 1 22 011020000200 LInunbKa ronoBKu KOpoTKas 2
6 011020400000 BuWaKa BbIKAOYEHUA KOMMNEKT 1 23 514010400800 LWTndT 4x8 4
7 522010101301 Konbuo ynnotHuTenoHoe 1 24 011020300000 WatyH 1
8 011030006101 LWariba 2 25 011020002500 Bknagplw watyHa (napa) 1
9 011030006102 LWariba 1 26 518042100000 Konbuo ctonopHoe nanbua 2
10 019990011400 Bo3BpaTHaa npyXuHa 1 27 011020002400 Manew, nopwHsA 1
11 019990012800 Mpy*WHa pblyara BbIKAOYEHUA 1 28 011020002300 MopweHb 1
12 019990011500 Pbluar perynatopa KOMNAEKT 1 29 011020200000 KomnneKT nopLluHeBbix Kosew, 1
13 019990007900 LLlyn ypoBHA macna 1 30 | - Mpoknagka noa TONMBHbINM Hacoc 1
14 523010100300 Konbuo ynnotHutenoHoe 26x3,55 1 31 019990007500 MpoKnagKa naacTuHbl 1
15 521030100101 MoAwunnHmk 2 32 019990007600 MnacTuHa KpenneHua TONAUBHOIO 1
Hacoca
16 019990007200 LinuabKa KpenieHna Hacoca(KopoTkas) 1 33 512040600002 lalika M6 1
17 019990007300 LinunbKa KpenaeHuna Hacoca(annHHan) 2 34 011020005600 TONNMBHBI HAaCOC BbICOKOTO 1

AaBneHna




LaampPron

Power & force

Mogenb: DG3600E

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Ne APTUKYN HavmeHoBaHuWe K-BO Ne ApPTUKYN HanmeHoBaHue K-so
1 011020002901 Konensan 1 22 522010100901 CanbHUK KoneHBana 30x45x10 1
2 519010100500 LLInoHKa 5x5x7 1 23 523010100300 Konbuo ynnotHutenbHoe 26x3,55 1
3 519010100600 LinoHKa 5x5x12 1 24 019990007900 LLlyn ypoBHA macna 1
4 011020002800 LLlectepHA npuBoaa pacnpeasana 1 25 011020001300 KpbiwKa KapTepa 1
5 011020001100 MpoknagKa KpbIWKKU KapTepa 1 26 521010010601 MoawunHuk Bana 6anaHcmpa 6202 1
6 521010010401 NoawwunnHuK pacnpeasana 6206 1 27 011020002600 Ban 6anaHcupa 1
7 011020001200 MoAWNNHMK CKONbXKEHMA KoNleHBana 1 28 519010100500 LLinoHKa 5x5x7 1
8 514010801200 WTtnoT 3x16 2 29 011020002700 LLlectepHa Bana banaHcmpa 1
9 019990011100 Tonkatens perynatopa obopoTos 1 30 011020003000 LLlecTepHsa npuBoga Basna 6banaHcupa 1
10 011011100000 Perynatop 060poToB LeHTpobeKHbIN 1 31 521010011001 NoawunnHuk KoneHwsana 6307 1
11 019990009100 Tpybka macno3abopHuKa 1 32 521010010601 MoawunHuK Bana 6anaHcmpa 6202 1
12 019990008200 3arnyLwKa KpbIWKKM KapTepa 3 33 011020001000 Koyx 1
13 523010100500 KonbLo ynaoTHUTeNbHOEe GpunbTpa 1 34 011020004400 TpybKa TonavBHasA 1
25x2,65
14 019990009000 DUNbTP MacAAHBIN 1 35 019990010700 CTapTep 3/1eKTpUYECcKmin 1
15 511050601203 Bont M6x12 1 36 019990007700 MnactuHa ynopHas 1
16 029990000201 [atunk gasneHna macna 1 37 011020003600/ TonkaTtenb KnanaHa 2
7806100
17 019990012600 MacnoHacoc 1 38 011010003700/ Tapenka TonKaTeNa KnanaHa 2
7006003
18 523010100400 Konbuo ynnotHutenoHoe 1 39 521030100201 MopwmnnHuk pacnpeasana 1
UCONKUATHIA
19 019990008800 KpbiwKa macnoHacoca 1 40 011020003900/ PacnpepgBan 1
7806001
20 511050601203 Bont M6x12 3 41 519010100300 LinoHKa 4x4x12 1
21 511050803803 Bont M8x38 15 42 011020003800 LectepHa pacnpegBana 1




LaampPron

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX Yactei Mogaenb: DG3600E

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-Bo
1 011020004642/ 7814100 Craprep B cbope 1 6 011020003500 CTakaH MaxoBMKa 1
2 511050602203 Bont M6x22 4 7 011020003400 [alika KpenneHna maxoBu1Ka 1
3 011020004742 Koxyx maxoBuKa 1 8 011020003300 LWainba 1
4 019990010201 YnnoTHeHWe KoXyxa 1 9 011020003200 MaxoBuk 1
5 511050601203 Bont Méx12 2 10 011020003100 3y6yaTbiii BEHeL, MaxoBMKa 1




